BIF 1: EERNTEESmMEMEEZHERE
BREFIS 2025 F 9 BRGRFITEEmIBEMEERZZT:

R TTEEIRERER 2025 F9 B 1 HE 7 H: $80,000 7H
2025 9 B 8 H: EHES $40,000
RPSTL AR 4EER 2025 29 H 8 HE 21 A: $40,000 148
2025F 9B 22 H: FAE® $30,000
AP T IR 4E(ER 2025 £ 9 B 22 HE 30 H: $70,000 9H
2025 £fF 9 BZ 9L EIEREE: $58,333.33
AL mBMEEZFE 9 Bz 9SS EERSE
$100,000 = ($80,000 x 7 H + $40,000 x 14 H
+ $70,000x 9 H) /9 Bip#HE%30 A
$80,000x 7 H =$58,333.33
$80,000
$70,000 x 9 H
$e0000 | _ _ | e L A $58.333.33
$40,000 x 14 H
$40,000
$20,000
— SHLEEMRE - - -9AMZEISHLEESE
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EiApIFLARFITEREA, EREESRINEAR BB EE RS s FE R e mEMAE.

flF 2: SEBIEREFZAEHE
BREFINRFITASSTHIEASEmEMBENT:

B HFITT ESTY

2025 £F 8 BRIFHEREMEE (A) $500 $100

2025 £ 9 RIS HEMEE (B) $20,500 $100

2025 £ 10 BRI HE4EE (O $20,500 $1,970

2025 £ 11 BRYFi9EEH IR 4E(E (D) $50,500 $100

9 BIFEREE (RPITHE) (B-A) $20,000 $0

10 BEERERE (RPITEE) (C-A) $20,000 $1,870

11 BEEREHE (RPITHE) (D-A) $50,000 $0
) BAEIEIEREH = $20,000 (RPITFERSER $20,000 + ETFERSE (RPITEE) $0)
10 BAHEIEREH = $35,053.5 (RPITHERSHE $20000 + ETHERSE (RPITHE) $15,053.5)
11 BAHRIERSE = $50,000 (EPITHERSE $50000 + STTFERSE (EPITHE) $0)
TESHEEREE = $50

BEERASST: 8PT = 8.0500
(ERSIRIBHISSE M AR, biEREHS2E, )
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